

A note on the excesses over a high threshold*

M. Ivette Gomes

D.E.I.O. and C.E.A.U.L., Universidade de Lisboa

Abstract. In this note we are interested in the derivation of the asymptotic distributional properties of the maximum likelihood estimator of a positive tail index γ , on the basis of the excesses over a high random threshold.

AMS 2000 subject classification. Primary 62G32; Secondary 65C05.

Keywords and phrases. *Statistics of Extremes, Semi-parametric estimation, Generalized Jackknife statistics.*

1 Some comments on the excesses and the Generalized Pareto model

Heavy tail models appear often in practice. A model F is a heavy tail model whenever the *tail function*, $1 - F$, is a regularly varying function with a negative index of regular variation $\alpha = -1/\gamma$, i.e., for every $x > 0$,

$$\lim_{t \rightarrow \infty} \frac{1 - F(tx)}{1 - F(t)} = x^{-1/\gamma}.$$

The parameter $\gamma (> 0)$ is the *tail index*, one of the most relevant parameters of rare events.

In a context of heavy tails, and with the notation $U(t) = F^{\leftarrow}(1 - 1/t)$, $t \geq 1$, $F^{\leftarrow}(y) = \inf\{x : F(x) \geq y\}$ the generalized inverse function of the underlying model F , the first order parameter (or tail index) $\gamma (> 0)$ appears, for every $x > 0$, as the limiting value, as $t \rightarrow \infty$, of

$$\frac{\ln U(tx) - \ln U(t)}{\ln x},$$

i.e., with the usual notation RV_{α} for the class of regularly varying functions with index of regular variation α ,

$$1 - F \in RV_{-1/\gamma} \quad \text{if and only if} \quad U \in RV_{\gamma}. \quad (1.1)$$

*Research partially supported by FCT / POCTI / FEDER.

The second order parameter $\rho (\leq 0)$ is the non-positive value which appears in the limiting relation

$$\lim_{t \rightarrow \infty} \frac{\frac{U(tx)}{U(t)} - x^\gamma}{A(t)} = x^\gamma \frac{x^\rho - 1}{\rho}, \quad (1.2)$$

which we assume to hold for every $x > 0$, and where $|A(t)|$ is of regular variation with index ρ (Geluk and de Haan, 1987).

For intermediate k , i.e., a sequence of integers $k = k_n$ such that

$$k = k_n \rightarrow \infty, \quad k_n = o(n), \quad \text{as } n \rightarrow \infty, \quad (1.3)$$

let us think on the excesses over the random high level $X_{n-k:n}$,

$$V_i = X_{n-i+1:n} - X_{n-k:n}, \quad 1 \leq i \leq k. \quad (1.4)$$

From the definition of the function U and from the fact the $F(X)$ is a uniform random variable (r.v.), we get the representation $X_{i:n} = U(Y_{i:n})$ where Y is a unit Pareto r.v., i.e., $F_Y(y) = 1 - y^{-1}$, $y \geq 1$, and since for $j > i$, $\frac{Y_{j:n}}{Y_{i:n}} \stackrel{d}{=} Y_{j-i:n-i}$, $\ln Y_{i:n} \stackrel{d}{=} E_{i:n}$ where E denotes a standard exponential r.v. and $Y_{n-k:n} \sim n/k$, we may indeed write, whenever we are under the second order framework in (1.2),

$$\begin{aligned} V_i &= U(Y_{n-k:n}) \left\{ \frac{U(Y_{n-i+1:n})}{U(Y_{n-k:n})} - 1 \right\} \\ &= U(n/k) \left\{ Y_{k-i+1:k}^\gamma - 1 + A(n/k) Y_{k-i+1:k}^\gamma \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right\} (1 + o_p(1)) \end{aligned}$$

Then, with $\delta = \gamma U(n/k)$, we have

$$V_i = X_{n-i+1:n} - X_{n-k:n} \sim \delta \frac{Y_{k-i+1:k}^\gamma - 1}{\gamma}, \quad 1 \leq i \leq k, \quad (1.5)$$

i.e., the excesses V_i may be assumed to be the k order statistics in a sample of size k from a Generalized Pareto model, with distribution function

$$GP(x; \gamma, \delta) = 1 - \left(1 + \gamma \frac{x}{\delta} \right)^{-1/\gamma}, \quad x > 0 \quad (\gamma > 0), \quad (1.6)$$

and γ and δ may be estimated through *Maximum Likelihood (ML)*. Since for *ML*-estimation in a Generalized Pareto model, it is easier the re-parametrization in $(\gamma, \alpha) = (\gamma, \gamma/\delta)$ (Davison, 1984) we shall assume the excesses V_i to come from the model

$$GP(x; \gamma, \alpha) = 1 - (1 + \alpha x)^{-1/\gamma}, \quad x > 0 \quad (\gamma > 0), \quad (1.7)$$

i.e., there exists γ and α such that, for $1 \leq i \leq k$,

$$\alpha V_i = \left\{ Y_{k-i+1:k}^\gamma - 1 + A(n/k) Y_{k-i+1:k}^\gamma \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right\} (1 + o_p(1)) \quad (1.8)$$

2 The ML estimation in a Generalized Pareto model

Let us assume we have access to a sample $\underline{V} = (V_i, 1 \leq i \leq k)$ from the Generalized Pareto model in (5.2).

The joint maximization, in γ and α , of the log-likelihood of the excesses,

$$\ln L(\gamma, \alpha; V_i, 1 \leq i \leq k) = k \ln \alpha - k \ln \gamma - \left(\frac{1}{\gamma} + 1\right) \sum_{i=1}^k \ln(1 + \alpha V_i),$$

leads us to an explicit expression for $\hat{\gamma}$ as a function of $\hat{\alpha}$ given by

$$\hat{\gamma}(k) := \frac{1}{k} \sum_{i=1}^k \ln(1 + \hat{\alpha} V_i) =: \hat{A}. \quad (2.1)$$

Then, introducing the notation:

$$\begin{aligned} A &= \frac{1}{k} \sum_{i=1}^k \ln(1 + \alpha V_i), & \hat{A} &= \frac{1}{k} \sum_{i=1}^k \ln(1 + \hat{\alpha} V_i), \\ B &= \frac{1}{k} \sum_{i=1}^k \frac{\alpha V_i}{1 + \alpha V_i}, & \hat{B} &= \frac{1}{k} \sum_{i=1}^k \frac{\hat{\alpha} V_i}{1 + \hat{\alpha} V_i}, \\ C &= \frac{1}{k} \sum_{i=1}^k \frac{\alpha V_i}{(1 + \alpha V_i)^2}, & \hat{C} &= \frac{1}{k} \sum_{i=1}^k \frac{\hat{\alpha} V_i}{(1 + \hat{\alpha} V_i)^2}, \end{aligned}$$

and noticing that

$$\frac{\partial A}{\partial \alpha} = \frac{B}{\alpha}, \quad \frac{\partial B}{\partial \alpha} = \frac{C}{\alpha}$$

the ML estimator of α is solution of the equation

$$\hat{B} + \frac{\hat{B}}{\hat{A}} - 1 \equiv 0 \quad (2.2)$$

We may thus write for the ML equations:

$$\hat{\gamma}^{GP}(k) = \hat{A} = A + \frac{\partial A}{\partial \alpha} (\hat{\alpha} - \alpha) (1 + o_p(1)) = A + B \frac{\hat{\alpha} - \alpha}{\alpha} (1 + o_p(1)), \quad (2.3)$$

and, since $\partial(B + B/A - 1)/\partial \alpha = (C + C/A - (B/A)^2)/\alpha$, $\hat{\alpha} \equiv \hat{\alpha}^{GP}(k)$ is such that

$$\hat{B} + \frac{\hat{B}}{\hat{A}} - 1 \equiv 0 = B + \frac{B}{A} - 1 + \frac{\hat{\alpha} - \alpha}{\alpha} \left(C + \frac{C}{A} - \left(\frac{B}{A}\right)^2 \right) (1 + o_p(1)), \quad (2.4)$$

i.e.,

$$\frac{\hat{\alpha} - \alpha}{\alpha} = \frac{1 - B - B/A}{C + C/A - (B/A)^2} (1 + o_p(1)). \quad (2.5)$$

3 The asymptotic behaviour of the random variables under play

With $\{E_i\}_{i \geq 1}$ denoting a sequence of independent, identically distributed (i.i.d.), standard exponential random variables, let us use the notation

$$P_k := \sqrt{k} \left(\frac{1}{k} \sum_{i=1}^k E_i - 1 \right), \quad (3.1)$$

$$Q_k := \frac{(1+\gamma)\sqrt{(1+2\gamma)k}}{\gamma} \left(\frac{1}{k} \sum_{i=1}^k e^{-\gamma E_i} - \frac{1}{1+\gamma} \right), \quad (3.2)$$

which are asymptotically standard normal r.v.'s.

Let us also introduce the notation,

$$c_j = \frac{1}{(1+j\gamma)(1-\rho+j\gamma)}, \quad j = 0, 1, 2, \quad (3.3)$$

We first state the following straightforward result:

Proposition 3.1. *The second order structure between the r.v.'s P_k and Q_k is given by*

$$\text{Cov}(P_k, Q_k) = -\frac{\sqrt{1+2\gamma}}{1+\gamma}. \quad (3.4)$$

Proof. The result comes straightforwardly from the fact that $E(e^{-\gamma E}) = \frac{1}{1+\gamma}$ and $E(E e^{-\gamma E}) = \frac{1}{(1+\gamma)^2}$. Consequently $\text{Cov}(E, e^{-\gamma E}) = \frac{\gamma}{(1+\gamma)^2}$ \square

For the r.v.'s under play we have the validity of the following distributional representations,

Theorem 3.1. *If the second order condition (1.2) holds, if $k = k_n$ is a sequence of intermediate positive integers, i.e., (1.3) holds, we have the validity of the following distributional representations:*

$$A \stackrel{d}{=} \gamma + \frac{\gamma}{\sqrt{k}} P_k + c_0 A(n/k)(1 + o_p(1)), \quad (3.5)$$

$$B \stackrel{d}{=} \frac{\gamma}{1+\gamma} - \frac{\gamma}{(1+\gamma)\sqrt{(1+2\gamma)k}} Q_k + c_1 A(n/k)(1 + o_p(1)), \quad (3.6)$$

and

$$C \stackrel{d}{=} \frac{\gamma}{(1+\gamma)(1+2\gamma)} + o_p(1). \quad (3.7)$$

Consequently, we have

$$1 - B - \frac{B}{A} \stackrel{d}{=} \frac{1}{\sqrt{k}} \left(\frac{Q_k}{\sqrt{1+2\gamma}} + \frac{P_k}{1+\gamma} \right) + \frac{c_0 - c_1(1+\gamma)^2}{\gamma(1+\gamma)} A(n/k)(1+o_p(1)) \quad (3.8)$$

and

$$C + \frac{C}{A} - \left(\frac{B}{A} \right)^2 \stackrel{d}{=} \frac{\gamma^2}{(1+\gamma)^2(1+2\gamma)} + o_p(1). \quad (3.9)$$

Proof. Let us think first on A . Since

$$\begin{aligned} \alpha V_i &= Y_{k-i+1:k}^\gamma - 1 + A(n/k) Y_{k-i+1:k}^\gamma \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \\ 1 + \alpha V_i &= Y_{k-i+1:k}^\gamma \left(1 + A(n/k) \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right), \end{aligned}$$

and we may write

$$\begin{aligned} A &= \frac{1}{k} \sum_{i=1}^k \ln(1 + \alpha V_i) \\ &= \frac{\gamma}{k} \sum_{i=1}^k E_i + \frac{1}{k} \sum_{i=1}^k \frac{Y_i^\rho - 1}{\rho} A(n/k) (1 + o_p(1)). \end{aligned}$$

Since $E \left[\frac{Y^\rho - 1}{\rho} \right] = \frac{1}{1-\rho}$, (3.5) follows. Analogously, we have

$$\begin{aligned} \frac{\alpha V_i}{1 + \alpha V_i} &= \frac{Y_{k-i+1:k}^\gamma - 1 + A(n/k) Y_{k-i+1:k}^\gamma \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1))}{Y_{k-i+1:k}^\gamma \left(1 + A(n/k) \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right)} \\ &= \left(1 + Y_{k-i+1:k}^{-\gamma} + A(n/k) \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right) \\ &\quad \times \left(1 - A(n/k) \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right) \\ &= 1 - Y_{k-i+1:k}^{-\gamma} + A(n/k) Y_{k-i+1:k}^{-\gamma} \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)). \end{aligned}$$

Then

$$\begin{aligned} B &= \frac{1}{k} \sum_{i=1}^k \frac{\alpha V_i}{1 + \alpha V_i} \\ &= 1 - \frac{1}{k} \sum_{i=1}^k e^{-\gamma E_i} + \frac{1}{k} \sum_{i=1}^k Y_i^{-\gamma} \frac{Y_i^\rho - 1}{\rho} A(n/k)(1 + o_p(1)). \end{aligned}$$

Since $E \left[Y^{-\gamma} \frac{Y^\rho - 1}{\rho} \right] = \frac{1}{(1+\gamma)(1-\rho+\gamma)}$, (3.6) follows as well. Finally, $\frac{\alpha V_i}{(1+\alpha V_i)^2}$ may be written as

$$\begin{aligned}
& \frac{1 - Y_{k-i+1:k}^{-\gamma} + A(n/k) Y_{k-i+1:k}^{-\gamma} \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1))}{Y_{k-i+1:k}^\gamma \left(1 + A(n/k) \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right)} \\
&= \left(Y_{k-i+1:k}^{-\gamma} (1 - Y_{k-i+1:k}^{-\gamma}) + A(n/k) Y_{k-i+1:k}^{-2\gamma} \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right) \\
&\quad \times \left(1 - A(n/k) \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right) \\
&= Y_{k-i+1:k}^{-\gamma} (1 - Y_{k-i+1:k}^{-\gamma}) \\
&\quad + A(n/k) \left(2Y_{k-i+1:k}^{-2\gamma} - Y_{k-i+1:k}^{-\gamma} \right) \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)).
\end{aligned}$$

Consequently

$$\begin{aligned}
C &= \frac{1}{k} \sum_{i=1}^k \frac{\alpha V_i}{(1 + \alpha V_i)^2} \\
&= \frac{1}{k} \sum_{i=1}^k e^{-\gamma E_i} (1 - e^{-\gamma E_i}) + \frac{1}{k} \sum_{i=1}^k \left(Y_i^{-2\gamma} - Y_i^{-\gamma} \right) \frac{Y_i^\rho - 1}{\rho} (1 + o_p(1))
\end{aligned}$$

and (3.7) follows, as well as the remaining of the theorem. \square

4 Back to the ML estimators

We may state the following:

Theorem 4.1. *If the second order condition (1.2) and if (1.3) hold, we have the following asymptotic distributional representations:*

$$\frac{\hat{\alpha}^{GP}(k) - \alpha}{\alpha} \stackrel{d}{=} \frac{(1+\gamma)\sqrt{1+2\gamma}}{\gamma\sqrt{k}} R_k + \frac{\rho(1+\gamma)(1+2\gamma)}{\gamma^2(1-\rho)(1-\rho+\gamma)} A(n/k)(1+o_p(1)), \quad (4.1)$$

and

$$\hat{\gamma}^{GP}(k) \stackrel{d}{=} \gamma + \frac{(1+\gamma)}{\sqrt{k}} S_k + \frac{(1+\gamma)(\gamma+\rho)}{\gamma(1-\rho)(1-\rho+\gamma)} A(n/k)(1+o_p(1)), \quad (4.2)$$

with R_k and S_k asymptotically standard normal random variables.

Proof. In Theorem 3.1 we have got

$$1 - B - \frac{B}{A} \stackrel{d}{=} \frac{1}{\sqrt{k}} \left(\frac{Q_k}{\sqrt{1+2\gamma}} + \frac{P_k}{1+\gamma} \right) + \frac{c_0 - c_1(1+\gamma)^2}{\gamma(1+\gamma)} A(n/k)(1 + o_p(1))$$

Since $C = \frac{\gamma^2}{(1+\gamma)^2(1+2\gamma)} + o_p(1)$ and $\frac{\hat{\alpha}^{GP}(k) - \alpha}{\alpha} = \frac{1-B-B/A}{C+C/A-(B/A)^2}$, we get

$$\begin{aligned} \frac{\hat{\alpha}^{GP}(k) - \alpha}{\alpha} &\stackrel{d}{=} \frac{(1+\gamma)^2(1+2\gamma)}{\gamma^2\sqrt{k}} \left(\frac{Q_k}{\sqrt{1+2\gamma}} + \frac{P_k}{1+\gamma} \right) \\ &\quad + \frac{(1+\gamma)(1+2\gamma)(c_0 - c_1(1+\gamma)^2)}{\gamma^3} A(n/k)(1 + o_p(1)), \end{aligned}$$

and, from the covariance structure between P_k and Q_k , (4.1) follows.

Finally, since we have $\hat{\gamma}^{GP}(k) = A + B \frac{\hat{\alpha}^{GP}(k) - \alpha}{\alpha}$, we get

$$\begin{aligned} \hat{\gamma}^{GP}(k) &\stackrel{d}{=} \gamma + \frac{\gamma}{\sqrt{k}} P_k + c_0 A(n/k) + \frac{(1+\gamma)(1+2\gamma)}{\gamma\sqrt{k}} \left(\frac{Q_k}{\sqrt{1+2\gamma}} + \frac{P_k}{1+\gamma} \right) \\ &\quad + \frac{(1+2\gamma)(c_0 - c_1(1+\gamma)^2)}{\gamma^2} A(n/k)(1 + o_p(1)) \end{aligned}$$

$$\begin{aligned} &\stackrel{d}{=} \gamma + \frac{1+\gamma}{\gamma\sqrt{k}} \left((1+\gamma)P_k + \sqrt{1+2\gamma}Q_k \right) \\ &\quad + \frac{(1+\gamma)^2(c_0 - c_1(1+\gamma)^2)}{\gamma^2} A(n/k)(1 + o_p(1)), \end{aligned}$$

from which (4.2) follows. \square

Remark 4.1. *Smith (1987) has already got these same results. The conclusion of his Theorem 3.2 gives in our notation, and whenever $\sqrt{k} A(n/k) \xrightarrow[n \rightarrow \infty]{} \lambda$, finite*

$$\sqrt{k} (\hat{\gamma}^{GP}(k) - \gamma) \xrightarrow{d} \text{Normal} \left[\frac{\lambda(1+\gamma)(\gamma + \rho)}{\gamma(1-\rho)(1+\gamma-\rho)}, (1+\gamma)^2 \right]$$

5 An alternative approach to reduce bias in the PML estimation

We have written before

$$V_i = X_{n-k:n} \left\{ Y_{k-i+1:k}^\gamma - 1 + A(n/k) Y_{k-i+1:k}^\gamma \frac{Y_{k-i+1:k}^p - 1}{\rho} (1 + o_p(1)) \right\}.$$

Let us write now

$$\begin{aligned}
V_i &= X_{n-k:n} \left\{ Y_{k-i+1:k}^\gamma \left(1 + A(n/k) \frac{Y_{k-i+1:k}^\rho - 1}{\rho} (1 + o_p(1)) \right) - 1 \right\} \\
&= X_{n-k:n} \left\{ e^{\gamma \ln Y_{k-i+1:k} + A(n/k) \frac{Y_{k-i+1:k}^\rho - 1}{\rho}} - 1 + o_p(A(n/k)) \right\} \\
&= X_{n-k:n} \left\{ e^{\gamma \ln Y_{k-i+1:k} \left(1 + \frac{A(n/k)}{\gamma} \frac{Y_{k-i+1:k}^\rho - 1}{\rho \ln Y_{k-i+1:k}} \right)} - 1 \right\} \\
&= X_{n-k:n} \left\{ Y_{k-i+1:k}^{\gamma \left(1 + \frac{A(n/k)}{\gamma} \frac{Y_{k-i+1:k}^\rho - 1}{\rho \ln Y_{k-i+1:k}} \right)} - 1 + o_p(A(n/k)) \right\} \\
&= X_{n-k:n} \left\{ Y_{k-i+1:k}^{\gamma e^{\frac{A(n/k)}{\gamma} \frac{Y_{k-i+1:k}^\rho - 1}{\rho \ln Y_{k-i+1:k}}}} - 1 + o_p(A(n/k)) \right\}.
\end{aligned}$$

Since

$$\frac{Y_{k-i+1:k}^\rho - 1}{\rho \ln Y_{k-i+1:k}} \sim -\frac{(i/k)^{-\rho} - 1}{\rho \ln(i/k)} =: \psi_{ik}$$

we expect to get a less biased estimator if we assume that the random excess V_i comes from a GP model with a shape parameter not equal to γ , as it is usually done, but dependent on i and k , and more specifically given by

$$\gamma_{ik} = \gamma e^{D \left(\frac{n}{k}\right)^\rho \psi(i,k)} = \gamma e^{A^*(n/k) \psi(i,k)}, \quad A^*(n/k) = \frac{A(n/k)}{\gamma} \quad (5.1)$$

assuming thus that we are in Hall's class of models, with $A(t) = C t^\rho$, $D = C/\gamma$.

We are thus going to assume that there exists a parameter α such that $V_i = X_{n-i+1:n} - X_{n-k:n}$ comes from the Generalized Pareto model, with distribution function

$$GP(x; \gamma, \alpha) = 1 - (1 + \alpha x)^{-1/\gamma_{ik}}, \quad x > 0 \quad (\gamma_{ik} > 0), \quad (5.2)$$

for every $1 \leq i \leq k$.

The likelihood function of the V_i 's is then

$$L(\gamma, A^*; \underline{v}) = \frac{\alpha^k}{\gamma^k} \prod_{i=1}^k e^{-A^*(n/k) \psi_{ik}} (1 + \alpha v_i)^{-\frac{1}{\gamma} A^*(n/k) \psi_{ik} - 1},$$

and consequently we have a log-likelihood given by

$$\begin{aligned} \ln L(\gamma, A^*; \underline{v}) &= k \ln \alpha - k \ln \gamma - A^*(n/k) \sum_{i=1}^k \psi_{ik} - \sum_{i=1}^k \ln(1 + \alpha v_i) \\ &\quad - \frac{1}{\gamma} \sum_{i=1}^k e^{-A^*(n/k)\psi_{ik}} \ln(1 + \alpha v_i). \end{aligned}$$

We then get an explicit expression for $\hat{\gamma}^{PML}(k)$, given by

$$\hat{\gamma}^{PML}(k) := \frac{1}{k} \sum_{i=1}^k e^{-A^*(n/k)\psi_{ik}} \ln(1 + \alpha V_i). \quad (5.3)$$

Remark 5.1. *As noticed by Laurens de Haan, since α may be chosen equal to $1/X_{n-k:n}$ we may think also in a weighted combination of the log-excesses, i.e. on*

$$\hat{\gamma}^{WH}(k) := \frac{1}{k} \sum_{i=1}^k e^{\hat{D}(n/k)^{\hat{\rho}} \frac{(i/k)^{-\hat{\rho}-1}}{\hat{\rho} \ln(i/k)}} \ln \left(\frac{X_{n-i+1:n}}{X_{n-k:n}} \right), \quad (5.4)$$

where with WH we denote *Weighted Hill*.

Let us assume everything is known, apart from γ . We may write

$$\ln(1 + \alpha V_i) = \gamma \ln Y_{k-i+1:k} \left(1 + \frac{A(n/k)}{\gamma} \frac{Y_{k-i+1:k}^\rho - 1}{\rho \ln Y_{k-i+1:k}} (1 + o_p(1)) \right),$$

and consequently $\hat{\gamma}^{PML}(k)$ may be written as

$$\frac{\gamma}{k} \sum_{i=1}^k \ln Y_{k-i+1:k} \left(1 + \frac{A(n/k)}{\gamma} \frac{Y_{k-i+1:k}^\rho - 1}{\rho \ln Y_{k-i+1:k}} (1 + o_p(1)) \right) \left(1 - \frac{A(n/k)}{\gamma} \psi_{ik} \right),$$

and consequently, with

$$B_k := \frac{1}{k} \sum_{i=1}^k \frac{Y_{k-i+1:k}^\rho - 1}{\rho} - \frac{1}{k} \sum_{i=1}^k \psi_{ik} E_{k-i+1:k} =: B_{k1} - B_{k2} \quad (5.5)$$

we have

$$\hat{\gamma}^{PML}(k) = \frac{\gamma}{k} \sum_{i=1}^k E_i + A(n/k) B_k (1 + o_p(1))$$

Let us study the asymptotic behaviour of the random variable B_k in (5.5): the weak law of large numbers enables to say that both B_{k1} and B_{k2} converge in probability towards their mean values. We have

$$E[B_{k1}] = E[(Y^\rho - 1)/\rho] = 1/(1 - \rho).$$

On the other hand

$$\begin{aligned}
E[B_{k2}] &= \frac{1}{k} \sum_{i=1}^k \psi_{ik} E[E_{k-i+1:k}] = -\frac{1}{\rho} \left(\frac{1}{k} \sum_{i=1}^k \frac{(i/k)^{-\rho} - 1}{\ln(i/k)} \sum_{j=i}^k \frac{1}{j} \right) \\
&= -\frac{1}{\rho} \left(\frac{1}{k} \sum_{j=1}^k \frac{1}{j} \sum_{i=1}^j \frac{\left(\frac{i}{j}\right)^{-\rho} \left(\frac{j}{k}\right)^{-\rho} - 1}{\ln(i/j) + \ln(j/k)} \right) \\
&\xrightarrow{k \rightarrow \infty} -\frac{1}{\rho} \iint_{[0,1] \times [0,1]} \frac{(xy)^{-\rho} - 1}{\ln(xy)} dx dy = -\int_0^1 \frac{v^{-\rho} - 1}{\rho \ln v} dv \int_v^1 \frac{1}{u} du \\
&= \int_0^1 \frac{v^{-\rho} - 1}{\rho} dv = \frac{1}{1 - \rho}.
\end{aligned}$$

Consequently B_k converges in probability towards 0 as $k \rightarrow \infty$ and

$$\widehat{\gamma}^{PML}(k) \stackrel{d}{=} \gamma + \frac{\gamma}{\sqrt{k}} P_k + o_p(A(n/k)), \quad (5.6)$$

i.e., the usual dominant component of bias, which is for the classical estimators of the tail index of the order of $A(n/k)$ is null.

The main problems to be dealt with are now related to the maximum likelihood estimation of (α, D, ρ) .

References

- [1] Csörgo, S., Deheuvels, P. and D. Mason (1985). Kernel estimates of the tail index of a distribution. *Ann. Statist.* **13**, 1050-1077.
- [2] Davison, A. (1984). Modeling excesses over high threshold with an application. In J. Tiago de Oliveira ed., *Statistical Extremes and Applications*, D. Reidel, 461-482.
- [3] Davis, R.A. and S. Resnick (1984). Tail estimates motivated by extreme value theory. *Ann. Statist.* **12**, 1467-1487.
- [4] Galambos, J. (1987). *The Asymptotic Theory of Extreme Order Statistics* (2nd edition). Krieger.
- [5] Geluk, J. and L. de Haan (1987). *Regular Variation, Extensions and Tauberian Theorems*. CWI Tract 40, Center for Mathematics and Computer Science, Amsterdam, Netherlands.
- [6] Goldie, C.M. and R.L. Smith (1987). Slow variation with remainder: a survey of the theory and its applications. *Quart. J. Math. Oxford Ser.* **38**:2, 45-71.
- [7] Hall, P. (1982). On some simple estimates of an exponent of regular variation. *J. Royal Statist. Soc.* **B44**, 37-42.

- [8] Hall, P. and Welsh, A. H. (1984). Best attainable rates of convergence for estimates of parameters of regular variation. *Ann. Statist.* **12**, 1079-1084.
- [9] Hall, P. and A.H. Welsh (1985). Adaptive estimates of parameters of regular variation. *Ann. Statist.* **13**, 331-341.
- [10] Hauesler, E. and Teugels, J. L. (1985). On asymptotic normality of Hill's estimator for the exponent of regular variation. *Ann. Statist.* **13**, 743-756.
- [11] Hill, B.M. (1975). A simple general approach to inference about the tail of a distribution. *Ann. Statist.* **3**, 1163-1174.
- [12] Smith, R.L. (1984a). Threshold methods for sample extremes. In J. Tiago de Oliveira ed., *Statistical Extremes and Applications*. D. Reidel, 621-638.
- [13] Smith, R.L. (1984b). Maximum likelihood estimation in a class of nonregular cases. *Biometrika* **72**, 67-90.
- [14] Smith, R.L. (1987). Estimating tails of probability distributions. *The Annals of Statistics* **15**:3, 1174-1207.
- [15] Weissman, I. (1978). Estimation of parameters and large quantiles based on the k largest observations. *J. Amer. Statist. Assoc.* **73**, 812-815.